@ £ e % https://www.tjqzz.com/

www.tjgzz.com

[J correspondd O 0O O O O O ?correspond O 0O O OO O

correspondd O O0;000;00;00000000dcorrespondd0000O0OO0OM
OO00OO00O0O0correspondd 00O 0O0OOcorrespondd D000 OO0O0OOOONO
gooooo!

correspond i EF BT 42

correspond????:corresponded

correspond????:corresponded

correspond????:corresponding

1?The punishment shall correspond to the offence.

2?7?7?77?7?7?7

2?His words and actions do not correspond.
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3?Red lines on the map correspond to major roads.
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4?Your account of events does not correspond with hers.
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5?High output values correspond to higher degrees of edge presence.
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6?The translation does not quite correspond to the original.
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7?1 correspond with him regularly.

2?7?7777

8?His expenses do not correspond to his income.
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10?The computer simulation and the theory analysis correspond excellently with each a nother.
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